K — 1K1 (A4H#%)

Sfn 5% 6H4
T PE T3 FH KB KB RS it . (M 5k %)
FROKIFE] 9:00
JR K ARERERAESR (L)
SR . , 7Y A% | Ei <
IR SR e | om | opH e | || %
C C JiE mg/1 | mg/1 mg/1 me/1 mg/1 mg/1

1 i 21.9] 18.2 1.1| 7.34] 15.6| 16.1 36 2.5|  <0.03] <0.02
2 58] 20.5| 17.8 2.3 7.37
3 & 21.0[ 18.2 15.6/ 7.00
4 i 22.5] 17.8 22.7]  6.85
5 i 21.9] 17.9 14.6| 17.06
6 & 20.0| 17.8 7.7 7.19
7 fiis 21.5| 17.2 4.5 7.10
8 fiis 24.8] 16.7 3.1|  7.26
9 & 20.5| 18.4 5.7| 7.33
10 | 2 23.5| 17.6 2.7 7.16
11 58] 20.8] 17.5 6.3]  7.02
12 | 21.4| 17.4 2.8 17.10
13 | W 24.6| 17.5 2.7 7.11
14 | 2 23.2] 18.8 2.0] 7.46
15 | 2 24.0] 19.4 1.7] 7.41] 13.6] 14.6 35 2.3]  <0.03] <0.02
16 | I 24.0[ 18.8 1.5 7.43
17 | W 27.0] 19.4 1.9 7.48
18 | 2 27.0[ 20.3 2.3 7.46
19 | W 25.4] 19.9 1.7] 7.54
20 | 2 22.2] 19.3 1.4 17.69
21 | 2 23.2] 20.2 1.0| 8.01
22 | [ 20.0/ 19.9 1.4 17.80
23 | 2 22. 1] 19.1 1.1] 7.70
24 | 28.7| 18.7 1.0| 7.83
25 | 2 25.7] 19.2 0.8 8.15
26 | =2 24.0[ 20.1 0.9/ 8.30
27 | 2 27.5]  20.2 0.9/ 8.00
28 | 30.5] 20.8 0.9/ 8.07
29 | 24.2]  20.9 0.9 7.72
30 | = 26.9] 21.5 1.0l 7.76

1y 23.7] 18.9 3.8] 7.49| 14.6| 15.4 36 2.4]  <0.03] <0.02

5 30.5| 21.5 22.7| 8.30] 15.6| 16.1 36 2.5|  <0.03] <0.02

AR 20.01  16.7 0.8 6.85] 13.6] 14.6 35 2.3 <0.03] <0.02




K — 1K1 (A4H#%)

Sfn B 6Hy
19176 38 FH /KB K B BB A v s 3 (MK Ss)
FEAKEER 9:00
oK AKERBREEE (BdkHh)
SR ; . T 7 5| By <~
IO R SR m | ome | pH PO T il I N I %
C C & mg/1 | mg/l me/1 mg/1 mg/1 mg/1
1| K 21.9] 18.2 0.8 7.23] 15.0| 15.4 32 2.5]  <0.03] <0.02
2| W 20.5| 18.8 0.8/ 7.35
3| = 21.0] 18.7 1.4] 6.82
4| HF 22.5| 18.1 1.0] 6.41
5| W 21.9] 18.0 3.6] 6.46
6] &= 20.0] 18.0 2.5/ 6.70
(i 21.5| 17.5 1.4 6.75
8| M 24.8] 17.8 2.8/ 7.18
9] &= 20.5| 18.1 2.4 7.19
10 £ 23.5] 18.3 2.4 7.20
11 20.8] 18.4 5.2]  6.80
12| [ 21.4] 18.3 3.3 6.95
13| M 24.6] 18.3 2.5 7.12
14| £ 23.2] 18.5 2.0 7.18
15| £ 24.0[ 18.9 1.7] 7.24] 13.6] 14.2 42 2.2]  <0.03] <0.02
16| I 24.0[ 19.2 1.5 7.31
17] W 27.0[ 19.4 1.4 17.33
18] £ 27.0[ 20.0 1.5| 7.39
19| M 25. 4] 20.0 1.5 7.40
20 & 22.2] 20.2 1.1| 7.48
21 & 23.2] 19.8 0.9 7.54
22| [ 20.0[ 20.1 1.0]  7.60
23 & 22.1] 19.8 0.9 7.50
24| 28.7 19.6 0.8 7.52
25 & 25.7 19.3 0.7 7.57
26 &= 24.0[ 19.6 0.6/ 7.60
27 & 27.5]  20.1 0.6/ 7.55
28| ff 30.5|  20.5 0.6/ 7.50
29| fE 24.2[ 20.8 0.7 7.44
30| & 26.9] 21.2 0.7, 7.35
¥ 23.71 19.1 1.6] 7.22| 14.3] 14.8 37 2.4 <0.03] <0.02
R 5 30.5| 21.2 5.2| 7.60| 15.0| 15.4 42 2.5]  <0.03] <0.02
=K 20.00 17.5 0.6 6.41 13.6] 14.2 32 2.2 <0.03  <0.02




